
BACK VIEW

 

 

 

B

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

13

13

14

14

15

15

16

16

A A

B B

C C

D D

E E

F F

G G

H H

I I

J J

K K

L L

PARTITIONS

FRONT PANEL

Back View

DOOR
1 2 3

1 2 3

At the next to the last cut off the "tongue and
groove" Measure the last one, cut it and put it in
 

At the next to the last cut off the "tongue and
groove" Measure the last one, cut it and put it in
 

INSTALLATION OF PLANKS

Arrangement of Planks 

Hang plank up then drop down

Part 2

Part 1 At the next to the last cut off the "tongue and
groove" Measure the last one, cut it and put it in
 
 
 

Cut

Cut

Round Headed
Bolt M8 x 55

Hex Nut M8

98
5 

Pl
an

ks
11
85

 P
la
nk

s

Round Headed
Bolt M8 x 55

Hex Nut M8

10
00

12
00

Loose Plate

11
29

Hex Nut M8
Loose Plate

Round Headed
Bolt M8 x 55

Loose Plate

11
05

 P
la
nk

s

24
In
si
de

 D
im
en

si
on

 
mm

11
85

 P
la
nk

s

12
00

Part 1

Part 2


	PAGE 4



